Viking

Motorgartengeréte / Zubehoér Motorhacken / ART 600 Bereifung
Stiickliste (1/1): A - Bereifung

Art.Nr.

Artikel

Bild-Nr.

Stk-Zahl

6906 704 9500

Benennung:

Reifen

—_

6906 704 6730

Benennung:

Schlauch

9210 260 1600

Benennung:

Sechskantmutter M16

9330 630 0280

Benennung:

Facherscheibe 17

9291 021 0280

Benennung:

Scheibe 17

6906 704 6820

Benennung:

Felge

6906 716 2800

Benennung:

Distanzhiilse

6906 740 6415

Benennung:

Nabe

9008 319 4080

Benennung:

Sechskantschraube M16x35

[(o] Kool BaN]Ke>] K, | IE-N FON] N \N]

9007 318 1950

Benennung:

Sechskantschraube M8x50

9212 260 1100

Benennung:

Sechskantmutter M8

6906 740 7400

Benennung:

Achse

NINININ[O] NN N 00| o] 0o NN

6906 708 1410

Benennung:

Klappsplint 10x42

KissInfoTec, 29.10.2018




Viking

Motorgartengeréte / Zubehoér Motorhacken / ART 600 Bereifung
Stiickliste (1/1): A - Bereifung

KissInfoTec, 29.10.2018

906 _O00ET_IMG_Q09





